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SAXNAL2SE 138,936 174,070 A35,134
100
a0l at 137,436 151,570 A14,134
120
EREEL 137,436 151,570 A14,134
201
=gl 115,890 128,890 A 13,000
115,890 128,890 A13,000|01 LEt2HHI
O [get=&H]] = 42,920
o BASISUIY = 81,920
o BAXA LZASHIIES el 242
50,000 X 109HA X 128 = 6,000
o Z22AXA 83 A 300,000 X 1002 = 3,000
o BEH =4 FFAF FY 200,000 X 1090 = 2,000
O [B322 % HMAll = 28,551
o U= LEl= 220 X 43200 X 10004 = 951
o NMalR= 100,000 X 109HA X 128 = 12,000
o ®IIR3 100,000 X 1044 X 128 = 12,000
o 44E 23 30,000 X 1004 X 128 = 3,600
O [S&l] = 8,400
o BASY S - 8,400
O [¢=H]] = 19,419

o HERFEIAY = 19,419
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899 X 1352 X 8AIZ+ X 20H X 1000 = 19,419
O [AIZ&Hl SXi4l] = 14,500
o 9z ¥H| =clt] 120,000 X 2& X 43| X 544 = 4,800
o XWURULE =2lbl 300,000 X 23] X 6944 = 3,600
o BAHXA HEAX 150,000 X 10&) X 200 = 3,000
o BAAZ A JHE &X 150,000 X 74A0 X 200 = 2,100
o BARXA IE 2yl 50,000 X 28] X 100 = 1,000
O [Tm=dl] = 2,100
o SAXNAHAINZ2HEH 70,000 X 321 X 10004 = 2,100
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21,546 22,680 A1,134101 2 LHOHI
O BA2E SHAHY = 21,546
200
A Ol & 1,500 22,500 A21,000
220
KM AR 1,500 22,500 A21,000
405
Aot S| 1,500 7,500 26,000
1,500 7,500 A6,000 |01 AAMLE =SS HSHI
O BAXA DAIRZD| 32 G
750,000 X 294 = 1,500




